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Year 5 Mathematics

NAME: DATE : MONDAY 8th NOVEMBER, 2021

Find the answer to each question:

N2+ 24+ 40 +39 - (33 - 30)=__
52+ 24 + 40 + 39 - 33 -30=____
9 (34 — 24) + (3 +39) - (3 +38)=__
9 36 + 39— (34 —12) - 20 + 9=
9 (17 +8 + 26 — 15 -5) + 0=
938 — 6 + 17 + 29 — (36 + 10)=
n39 - (15— 14) + (40 — 38 — )=
% (26+14) — (15+15) — (3+7)=____
944 — (54 — 20 — 10 - 6§ = 5)=
024 + 29 — (24 — 17 + 4) + 10=______
m39 +27 +4-31 - (18 — 12)=

735 + (36 — 26 + 27) - 30 - 13 =
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Find the answer to each question:

" 10 + 31+ 40 - (31 +6-9)=__

225 +11+4+30-(19 +27)=

" 1+6+38+30+(13+13)=___
©91+6+38+30-(13+13)=___

9 (29 — 14 + 33) — (29 - 14 + 33)=__
(29 — 14 + 33) — (29 — 14) + 33=____
n (29 - 14 + 33) — (29 - 14) - 33 =__
9 16 + 28 + (23 + 35) — (16 + 28)=

933+ 11+ 14 +2 - (21 +33)=__
w54 — (37 + 15) +(37 + 14) —1=__
m60 +10-10+565-5-20=__

50 + 10 — (10 + 5) — 5 — 20 =
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